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DIPLOMA IN SECURITY MANAGEMENT 
(DSM) 

Term-End Examination 

Q 
	 June, 2014 

BSEI-006 : SECURITY PERSONNEL 
RESPONSIBILITIES 

Time : 3 hours 	 Maximum Marks : 100 

Note : 	(i) 	Question No. 1 is compulsory. 

(ii) Question No. 2 Answer any seven question 
out of ten. 

(iii) Question No. 3 Answer any three question 
out of five.  

PART-A 

1. 	(a) Choose the correct answer : 	10x1=10 
(i) Watch and ward : 

(A) A system of civilian patrol 
(B) Special investigations 
(C) To protect people and 

properties within demarcated 
zones 

(D) Private security force to guard 
buildings, shops and stores 

(ii) Detective role of security means : 
(A) Monitor and detect disruptive 

activities 
(B) Spying 
(C) Catch thieves 
(D) All of the above 
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(iii) Shop lifting accounts for : 

(A) 40% of a storage shrinkage 

(B) 30% of a storage shrinkage 

(C) 20% of a storage shrinkage 

(D) 10% of a storage shrinkage 

(iv) The main duty of a security guard is : 

(A) Close and open doors in time 

(B) To prevent damage to client's 
premises and property 

(C) Prevent over crowding 

(D) Regulate flow of customers 

(v) 	A site consists of : 

(A) One post 

(B) Two posts 

(C) Four posts 

(D) Number of posts 

(vi) Reception duties can be similar to : 

(A) Barrier duties 

(B) Gate duties 

(C) Gate house duties 

(D) All of the above 

(vii) In an informal inspection : 

(A) It is a must that a senior 
executive is present. 

(B) There is no need for a senior 
executive. 

(C) Time for inspection is given. 

(D) None of the above. 
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(viii) Under section 10(1) a private security 
agency can employ a person as a 
security guard : 
(A) Of any age 

c\1 	(B) Even if he/she is not a citizen 
of India 

(C) He/She is a citizen of India 
(D) Even if he/she has not 

completed the prescribed 
training 

(ix) Under section 21 if any private 
security guard/supervisor wears a 
uniform of Army, Navy, Air Force for 
guard duties he can be : 
(A) Imprisoned upto 5 years or 

fined Rs. 10,000/- or both. 
(B) Imprisoned upto 1 year or fined 

Rs. 5000/- or both. 
(C) Fined Rs. 10,000/- only 
(D) Imprisoned upto 5 years only. 

(x) A private security agency must 
follow : 
(A) Payment of Bonus Act-1965 
(B) Contract Labour Act-1970 
(C) Payment of Gratuity Act -1972 
(D) All of the above 

PART-B 
(b) True or False : 	 6x1=6 

(i) The height of a watch tower in village ( ) 
defence system are about 50 to 60 ft 
high. 

(ii) More 	than 	one 	security ( ) 
manager/officer should not be 
employed if the department is headed 
by a director or chief security officer. 
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(iii) The function of public police is to 
protect public property as well as 
enforcement of laws. 

(iv) If any guard is found to be involved 
in committing crimes the controlling 
authority can cancel the licence of the 
security agency. 

(v) Site instructions contain specific ( ) 
duties of security guard/officer. 

(vi) During pay guard duties the duty of ( ) 
security officer is to prevent theft of 
pay packets from the place of issue. 

PART-C 
(c) Fill in the blanks : 	 12x1=12 

(i) The word security is derived from the 	2 
	word 	means 
care. 

(ii) security officer is part of 	3 
a 	 and 	 
organisation. 

(iii) The 	role of security seeks 	2 
to prevent disruptive activities against 
person, property and 	 

(iv) The major cause of damage or loss are 	3 
due to   	, fraud, 
	 and criminal damage. 

(v) Every private security agency shall 	2 
within 	 months of 
obtaining the 	, commence 
its activities. 

2. 	Attempt any seven out of ten : 	 7x6=42 
(a) What is the meaning of security ? Explain. 
(b) Write a brief note on protective and 

preventive role of security. 
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(c) What do assignment instructions contain ? 
List any six of them. 

(d) As a security officer/guard what is the type 
of information you will gather about your 
assignment ? 

(e) What do you understand by Access 
Control ? 

(f) What advice can be provided by a qualified 
professional security consultant in matters 
of security ? 

(g) What are the duties of a security officer ? 
List any six of them. 

(h) What is the purpose of patrol duties ? 
Explain. 

(i) What documents are maintained at the 
gate ? List any six of them. 

(j) Under what circumstances can the licence 
of a security agency be cancelled ? 

3. 	Answer any three out of five : 	 10x3=30 
(a) Under section 10(1) of the security act what 

points should be kept in mind while 
employing a person as a private security 
guard ? 

(b) What are the differences between a private 
and public security agency ? 

(c) What are the potential security risks on 
duty ? Explain. 

(d) What are the reasons the security 
officer/supervisor accompanies the 
inspecting manager ? 

(e) What duties are performed by security 
guards ? 
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